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Note :—  Answers may be written either in English or in Hindi;
. . P i
but the same medium should be used throughout the
paper..
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1. Read the following sentence in Hindi and English and answer

the questions that follow :

- P.TO



2y 2360
Rt o sitet # fru Mo Fr A W oW A
a?r{wmm%nﬁaur—h%w% :
.B'abli never  washes her hands but cleans_ her n(gse evéry'
‘day while Bunty washes his hands.at least 5 times in a
day.
"a}a{aﬁwmm#ﬁwmmwmw
W%Wdﬁﬁ#ﬁm%méwaﬁ;ﬁa&
i
(@ Comp;}re the Subject-Verb -agreement bé‘{tween
" English- and Hindi on ihe basis of E_g:iven’
data.

FgEga (afafa) + gam i
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From the above data, 'gbive an example of an agr¢ement
between any_Mo. com’ponenfs other than Subje:ict and
Verb.

@a%wmmwaﬁimﬁﬁm

L

ﬁ)ﬁﬁmmﬁaﬁawmm

- difed
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What happens to Subject-Verb agreement in Hindi when

the Subject is followed by a postposition ? Explain using

an example other than the above data. 4+2+3

féﬁﬁw_—mmﬁtmﬁﬁﬁ

& YA HT T SIS |



Read the following sets of phrases and answer the questions

~ that follow :
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& IW A
TR TE, g R, I T

(a) What is the grammatical category of the first and second

word in these phrases 7.

Hfe T ?



(b)
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Which two. factors are responsible for the
Qifferent forms of ‘;aaza’ ‘in the second set of
phrases ?

T % G W § A v @ e
w9 W A IR @ wRw fyw ¥ 2
What is the criterion to decide if the forms, of the

first word in such phrases will change.or not :7 Give

at least fowur more examples (two of each type) to

'suppoﬁ your answer. C 24245

@m@%wﬁwwaﬁ%mﬂﬁ
ﬂ%mmmﬁﬂ?m%7w Q%
w (@ v B e @E) SR g

s, Hifed |

P.T.O.
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Examine the illustration given below : 24245

oL

Fow whr T Tn,

T ReLY 6D, WOLh b,
T ONUNT VEAVLT.

t

Frzrk wyt Eros” § ThoasDee, by Nesspeper Ertrorine Aeworiation, I,

(@)  What do we néed to add to this conversation to make
it meaningful ? You gre not expected to ident{?fy the
speciﬁc sounds in ‘the cértoon.

‘wm@mﬁ@ﬁam’aﬁs—eﬁw
T A 2 om R

qe'rm & wE R
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What is the main articulatory quality of the missing
elements ?

9

What are the three main criteria used to :"describe the

‘missing speech sounds ?

Wwﬁﬁwaﬁm%ﬁq;}ﬁwg@

MR T T ?

Choose any two of the missing eleﬁ'@ents and

describe them on the basis of the criteria you ixave given
(. B - 134
e el 4 @ ot @ W g I (@
frg M0 TR # st Wk WA

P.T.O.
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Which type of bound morphemes do not'derive new

~words ?

~mmaﬁa&'sﬁnmwﬁmv?v

Enlist 3 such morphemes with examples in Eriglish.‘

SR WiEd T 3 SN W R v wawd

What is the common feature of these morphem'és in both

Hindi and English ?

Rt ol ofieht 31 F @ o wh F 4 W

Ol WM AW F ¥ 2

Discuss the rules of plural-formation in Hindi with

examples. 1+3+1+4

el e et g T @ e
e



@

(9 ) - 2360

Examine the two excerpts below. State some of the features

in excerpt I that help you establish it as a regional dialect.

You can compare, it to Hindi or any other IndEan la'nguage;
~ Also state the features in excerpt 1I that help you to.

-decide that it is a specific registér.

9 few T SR A oW § W) T eiw
% Yt % fafireat s fFs TR ® @

.%ﬁw%eﬁaﬁiwﬁwwﬁmhmm

# TS ST TR WE‘T%WW

ﬁ#@é@@@m‘ﬁw’mﬁﬁmmﬁ:
Excer;;tl
@aﬂaﬁma |aw=fwgamvﬁawﬁ#

éa‘}gmaﬁﬁw |:~r§wa‘7m§amvﬁ
P.T.O.
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reh forcel 3 s TR fram @ SR A
T frel Y@ @ eEw A R R T #
ﬁaanﬁn T Kew |

Excerpt II-

| Ingredients

Boiled potatoes, sliced 2 large
Onions cut into rings 2 medium
Cheese 8 tab_iesp'dons‘_‘gl
White bread slices 8

Butter As required
Salt ' 'I;o taste
Chaat masala ‘ ‘ For sprinkling

Vada pav chutney, dry 2 tablespoons
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Method :

¢)) Apply butter on four bread slices. Arra",nge potato
slices and onion rings on each. Spr":inkle two
tablespoons of grated cheese, salt dnd chaat

masala on each.

) Cover with remaining bread slices. Ap;%ly some

) i .
more butter on them and toast in a s§ndw1ch

toaster till evenly done on both sides.

3 Sprinkle half tablespoon dry vada pav c‘l‘;‘humey

on each sandwich and -serve hot.

.. o y
Code mixing and code switching are often employed by
us when we use language. Give suitable examples to show

what these are :' 5+

T SR A B TH ST i fafer, ok
‘e Reafei =1 T 9w | SR TTEH -
® W9 @ o w weE

P.T.0.
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Read the following statements carefully and answer the questions

that follow :

-ﬁ%mmﬁaﬁmﬁw'ﬁmaﬂaﬁfrgﬁ

0] Humans can talk about what happened in the past or

V\vlvhat'will happen in future.
T qAEE # W gE 3R wﬁwﬁaﬁa@
) We keep. c're.atingl new sernt'en.ces al‘l"“! our

" lives.

T SR AT TR S @ L
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Different languages have different words for same

thing.

STT-TE WTeneh d Uw € 9%y & fe

ST S =R

Which,speciﬁc feature of human language does each of

these statements demonstrate ? Discuss each of these

giving suitable examples wherever possible.

TAF Fe G W w fhg T fada B
qui & 2 W we @, ST ST < g
T fagvar =t ==t wifa

Discuss to what extent each of these features is present

in animal language.

it fr T A T Fa R

%mﬁﬁw@@ﬁ%‘w%
“ P.T.0.
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(©) How do these features help in making human
language a very complex and advanced commuﬁication
system ? | §+3+3
3 Tt ara o @) uw arfy Grfaa IR
ST FE-d T § R R e w
¥

Give one example each (with explanation) for any four of the

following : ;1x2

ﬁmﬁw%m (TR W) SR AR
(a) An ambiguous sentence

T .‘qf?':rawﬁ ElEz
(b)  Four language familie; of India.

HRd & =R 99 9RER
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An active sentence that cannot be passivized

@mf—gamwfa@ﬁ'—umﬁmm

& |

Two types of relativé clauses.

R TER & HeETE e

One parameter traditionally used to distinguish bétween

dialect. and language:

e SR Wl § 9t B B I SRR W

TaE fF 9 W e T eS|
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